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Revised answer key

Online examination held on 26.12.2015 for the post of JE(ATC)

Since certain discrepancies/errors were reported/observed, therefore, necessary corrective
measures have been taken by applying this revised answer key and the re-evaluation has
been done accordingly. The objections, if any, may be intimated within 7 days.

Junior Executive ATC Shift 1

Number of optional sections to be attempted: 0, Group Maximum duration : 0,
Group Minimum duration : 120, Group Marks : 120.0,

Revisit allowed for view? : No, Revisit allowed for edit? : No, Break time: 0
Physics and Mathematics
Section type : Online, Number of Questions to be attempted:60, Mandatory or Optional: Mandatory, Section Marks: 60.0

Subsection : 1, Question Shuffling Allowed : Yes

Question id : 5917 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A subway train starts from rest at a station and accelerates at a rate of 2ms™ for 10s. It then runs at a

-y s - b
constant speed for 30s and deaccelerates at 4ms™ until it stops at the next station. The distance
between the two stations 1s:

Options :

1. % 6350m
2. % 700m
3. ¥ 750m
4. % 800m

Question id : 5917 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
TF AT W R e § U w0 § dedr § 3 10s 9@ 2ms? #ir g7 @ af

ST &1 sH& a5 9% I 30s d% ONadeRie At & gisdr & 3R e 3ee v
W T aF Ams? F e F AT F FA FAT G| g T & F7 gl e 8

Options :

1. % 650m
2. % 700m
3. 750m

4. % 800m
sd

Question id : 5918 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Which of the following quantities 1s a vector?

Options :

1.v Area

2. % Volume

3. % Angle

4. % Speed

Question id : 5918 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Trrafafag & & oiF @ #mn afger §7

Options :
1. &rawer
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2. % 33MaOAA
3. % @or
4. % iy

Question id : 5919  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If the universal gravitational constant were decreasing with tume. then satellite in orbit would still
mamtam its:

Options :

1. # Orbital radius

2. % Angular momentum
3. % Tangential speed

4. % Period of revolution

Question id : 5919  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
afe areslfAs TEcarrdor FeRTs §AT & @1 9 T 61 dl HET A 3UE Jd o AT S0 § FAT a0 [

Options :

1. % emafrr B

2. Fofg w91
3. % woendr aifa
4. % ufygAUT HT Hafa

Question id : 5920  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The velocity with which a projectile must be fired so that 1t escapes earth s gravitation does not
depend on:

Options :

1. % Mass of the earth

2. % Mass of the projectile.
3. % Radius of the orbit.

4. % Gravitational constant.

Question id : 5920  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
g6 991 foI9 W U GEITT OISt S g =R difh 9 gdl & Ecarhiur ¥ FiEY folehd oTe, SoH @ fae ov TR a9 b

Options :

1. % gzl & SeaAr
2. ¢ watdr & gegAE|
3. % e T =
4. % TEATHYOT R

Question id : 5921  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The second law of thermodynamics introduces the concept of:

Options :

1. ¥ Heat

2. % Temperature
3.« Entropy

4. % Internal energy of the system

Question id : 5921  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
AT & GERT oA S I fe HauRom & SE] a6

Options :

1. % ZEAT

2. % dTIATT

3. ¢ Terdr

4. % ol #1 IANE I

Question id : 5922  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The manifestation of band structure 1n solids 15 a consequence of
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Options :
1. % Heisenberg s uncertamty principle

2.+ Pauli’s exclusion principle
3. % Bohr's correspondence principle

4. % Ohm’s law

Question id : 5922  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
B H o5 Ovaer &1 ucdied a8 O fhadr oiona &

Options :
1. ® grsodadr o AHEadar & &aa

2. OISl @ HUdes & Ogd

3. % FEY &7 HREesd o g
4. % HEA & F4H

Question id : 5923  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A disc shaped magnet levitate above a superconducting material that has been cooled by Liquid
nitrogen. This happens because a superconductor 1s:

Options :

1. % Diamagnetic
2. % Nonmagnetic
3. % Paramagnetic

4. % Ferromagnetic

Question id : 5923  Question Type : MCQ  (Correct + 1.0, Wrong - 0.0)
AL AEglel # &3 fahU v vs Afd=ies ugre & IW v [BEheAl GFas gdl A 3O/ AT §1 Ag SHIGU glar § itk sifcEre:

Options :

1. ¢ ufagFasE §
2. % IR-grah
3. % STFah &
4. % diggFadr §

Question id : 5924  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

An ideal gas engine operates in a Camot cycle. It absorbs heat at a temperature Ty and exhausts heat

at T>. The efficiency of this engine 1s:
Options :

1L.¢ (T =TT,

2. % (Ty+T)Ty

3.% (T =TTy

4. % TyTy

Question id : 5924  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T e I S et O A gR=nferd giar &1 9w arAe Ty 9 SSAT S Haeifua s § #R Ty o FeAT T Sehiied #tar §1 59 Seid 61

Options :

1L.¥ (Tq - To)lTy

2. % (Tq + To)T4

3.% (Ty - To)iTy

4. % T4/Ts

Question id : 5925  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

Superposition of two waves trains of same amplitudes and nearly same frequencies. moving in the

same direction, results i the formation of beats. The maximum loudness heard at the waxing 15 n
times the loudness of each of the component wave trains. The value of n 1s:

Options :
1. %1
2. %2
3.9 4
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4. %8

Question id : 5925  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
TR & FE HT N T v & wgfcd T o 8 R F 99 W@ o aer-Aenst &

GuaiffereT &1 9ROTA TUE gldT §1 AT & §AY ol a5 fEeaA vaedl, Uedd
Hed TLaTHTeT &l Yaeldl & n a) &1 N & A SaA8 § &4 &

Options :
1. %1
2. % 2
3.¢¥ 4
4. % 8

Question id : 5926  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
An earthquake generates both transverse (8) and longitudinal (P) waves in earth. The speed of §

waves is about 4.5kms™! and that of P wave 8.0kms™. A setsmograph records P and S waves from an
earthquake. The first P wave arrives 4.0 min before the first S wave. The epicenter is located at a
distance of about:

Options :

1. % 25km

2. % 250 km
3. ¢ 2500 km
4. % 25000 km

Question id : 5926  Question Type : MCQ  (Correct + 1.0, Wrong - 0.0)

UF ST Tl H UM (S) AR el (P) W@ Wl 3O HAT ol S awn @
g wEmemr 4.5kms™! R P A & afF 8.0 kms'1 #1 ve sHURr ST T PR
S TG 1 gt FT &1 Tgell P AT, gEell S TR F A& F 4.0 FAGe ggel gger g
HE-he oI fhcell GO W o

Options :

1. % 2B5km

2. % 250km

3. ¥ 2500km

4. % 25000km

Question id : 5927 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Quantization of electric charge 1s demonstrated by:

Options :

1. % Millikan’s o1l drop experiment

2. # Thompson s experiment

3. % Rutherford's u-ray scattering experiment

4. # Stern- Gerlach experiment

Question id : 5927 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
faeza smder & aiemHEReT (Quantization) e carT wef¥id R ST &

Options :

1. ¢ fafewe & e &1 dg 1 92Aer
2. % offFOe T WET

3. % [ETWIS @ o Theliar & waET
4. % Tea- INCNG T TR

Question id : 5928 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Ampere’ circuital law can be expressed as:

Options :

1. VXB=pyu]
2.% VXB=0
3. % gradB=0
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4. % DivB=10

Question id : 5928 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
TFIRR &7 ded fad featarad & § fha 9 #7 o9ad faar s @ 6

Options :
1. ¥V XB=u]

2.% VXB=0
3.% grad B =10
4. % DivB =0

Question id : 5929  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
According to Gauss’'s law. the electric field due to an mfinitely long thin charged wire varies as:

Options :
1. 1r
2% 1
3.% ¢

4.% 2

Question id : 5929  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
M & 07 & IFER, UF HURTAT T & T oA HEAAT dR F FROT faega e

# forw w9 & eaar s &

Options :

1.v 1fr

2.% 42

3.8 1

4. % 2

Question id : 5930  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

A rectangular loop of sides 15cm and 10cm. carrying a current of 1A 1s placed with its longer side

parallel to long straight wire carryimg a current of 2A placed at distance of 2cm. The net force
expertenced by the loop is :

Options :
1. ¥ 25 % 107 N towards the longer side.
2.% 25x 107N away from the longer side.

3. % 30x107 N towards the longer side
4. % 30x107 N away from the longer side

Question id : 5930  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
15cm 3R 10cm &1 AT arer TF FAAER oG9 W, A 1A & bega waw # awe

mm%,mﬁﬂiﬂgmfkﬂﬁﬁﬁﬁ%ﬁﬁﬂﬂ,ﬁ%ﬁﬁ@ﬁmmaﬁﬂﬁ
T 8, F THARICR 2cm & gl W @ A1 1 T GaRT HepsTa RAT S arel g aer
e &

Options :

1. ¥ 25x 107 N oielY 87T 1 3R

2.% 25 x 107 N ol o A X

3. % 30x107 N @l oo #r 3R

4.% 30x107 N et ofam A

Question id : 5931 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

A solid sphere & a hollow sphere of radius R are rolling down an inclimed plane of height h. The
ratio of velocities of Solid sphere to Hollow sphere on reaching the bottom 15

Options :

1% 21

#.55]
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2.9 |23
21
3% B
5

4.%J§
3

Question id : 5931  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
fosar R & v ar i 3R @raer fer FF h 3915 arel i §T ael § dedhrn S &

, #dol T UgEA W BIF 3R @ieer aiel & A & g AT 3T GlET

Options :
L% J21
25
2.9 |25
21
3.% 3
5
4. % 5
3

Question id : 5932 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A corona around the moon 1s seen when we view it on a fogy or musty night. This 1s due to:

Options :

1.« Diffraction patterns of air born water droplets
2. % Dispersion of light by air born water droplets
3. % Scattering of light by air born water droplets.

4. % Formation of diffused image of moon.

Question id : 5932 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
S §H U A A1 gUel Ud A I & 4@ b ol 56 9Ri AR U SSIASH Gal Sdl gl S HROT 8

Options :

1. ag SAfad ol i S ol et & faade det

2. % arg SAfAd et ¥ BIET SIET JaT @Rt Threr @ gt

3. % Gy SAfetd Ol @ S S et gan v & B

4. % wgar #1 faula ofa & s

Question id : 5933 Question Type : MCQ  (Correct + 1.0, Wrong - 0.0)

In cold season when lakes freeze. only the top water freezes. Below this laver the water does not
freeze and the aquatic life survives. This happens because of :

Options :

1. ¥ Poor thermal conductivity of ice

2.« The density of water is maximum at 4°C

3. % Heat convection does not take place m water.

4. % Low latent heat of fusion of water

Question id : 5933  Question Type : MCQ  (Correct + 1.0, Wrong - 0.0)
gfeat & #tgw # o el 97 S &, a1 S99 FW T U AT §] 59 Wa & oA

T T FET AT 3R S Siae F9r Ear &1 V6T SEtev gar § i

Options :
1. % gt & ard areihar aated g §
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2. UET & Geled 4°C W ARG H giar §
3. % Ul & FSAT FT Gagd =60 gl
4. % OISl & Horder T AT AT FA B &

Question id : 5934  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
The occupancy probability P(E) according to Fermi-Dirac statistics 1s
P(E) = 1/(e(E-EF)/KT +1)
a quantum state whose energy 1s 0.01 eV above the Fermi energy 1s about
. assume a sample temperature of 800K:

Options :
1. % 50%
2. % 60%
3.% 70%
4.9 80%

Question id : 5934  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

AT 3T F TR, H\:Iﬂ"ﬂﬂﬁ' grafaferer P(E) = 1/(e(E-Ep)/kT +1) U= Famwea
gewr _ § fowdr S oenner 0.01 eV WA FAT & FW E, AT AT F UE A5
aTAT 800K £

Options :

1. % 50%

2. % 60%

3. % 70%

4. v 80%

Question id : 5935  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Two masses m1 and m> are connected by a massless spring of spring constant k.
The system 1s free to oscillate along the length of spring. The system oscillates
with a frequency:

R

> ITT VIO
™y My
Options :

1. v % E where p = ((mim2)/(mi+ m))

2. % J% where p = ((m1m>)/(m1+m3))
3 % J% where y = ((mim2)/(m1+m3))
as L J% where j=((mims)(m1-+m2))

Due to typographical error in option, no option is correct. Hence full marks awarded to this question to all candidates.

Question id : 5935  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
&7 GedATd my AT mo U ceaAEREa e fSaeT e e kg,

572 {1 o & Fars & Ay 7p gonel gree e & foT waad gl
goTrelT fopcett 3mafed & @rer grere &t @

Options :
| [
L & [E s = (mamaims+ m)
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2% J% SET U = ((mim2)/(m1+m2))

3. % \E ST P o= ((mim2)/(m1+mz))

1 =
4. % E\E STET pu=((mima)/(ma+mz))
Due to typographical error in option, no option is correct. Hence full marks awarded to this question to all candidates.

Question id : 5936 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The Plank’s distribution function 1s given by:

Options :

1. ¥ 1/{exp(hew/T) +1)

2. % 1/(explhw/T) — 1)

3. % 1/(expl-ho/T) +1)

4. % 1f(exp(-hw/7) -1)

Question id : 5936  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
ol 7 faaweT woe fFas ganT sed kAT o &

Options :

1. ¥ 1/(exp(hw/t) +1)
2. % 1 /(exp(hw/T) — 1)
3. % 1(exp(-hAw/t) +1)
4. % 1(exp(-fw/t) - 1)

Question id : 5937  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
At very low temperatures. the heat capacity Cy; of a solid 1s:

Options :

1.« (120*/3)Nkg(T/8)°
2. % (127*)Nkp(T/6)°
3% (120)Vks (3)°

4. % (1224153 (2

Question id : 5937 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Tgd HA AT W, Uk S I SEHT GTRal Cy $AH § fehaedr eIl &

Options :

1. (120*15) Nikg( T8)?
2. % (12n*)Nkg(T/8)°
3. % (1211“)Nk5(§)3
4. % (12°15) Nks( )

Question id : 5938 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The London penetration depth 1s given by:
Options :

1. v (111c1-'-1-:mq1)1 2

2. % (mcl-‘fmql)l 2

3. % (mcl-'-lnql)l 2

4. % (-'l-r[mcl:'-—inql)l %

Question id : 5938  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
FiaeT Yeleerd 3v sad § fhas @ aftia & S §:

Options :
1. ¥ (mcZfdmng?) 12

2. % {mCZhTHQZ)HZ
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3. % {mCZfr4nq2}1.’2

4. % (4mnmc2idng?)?

Question id : 5939  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The Clausius and Mossotti equation 15 given by:

Options :

e+1 £
1. % — = (n00/3€0)
=
e+2

2. = (nott/3€0)

e+2
e—1

3. % = (ns0/3€0)

4. % E = (na0/3€0)
Question id : 5939  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
FAITET R AAET THEOT 5740 § FaF c@r afvia fFar S &

Options :

1&&
) e-1

(Nout/3e0)

e—1
LY

(Moct/3e0)

x 2
e-1
e+1
-2

3. (noal3e0)

4. % (Moct/3es)

Question id : 5940  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The work done in deformmg a body 15 given by
Options :

1. % StressXStrain

2 % (StressX Srain)

3. % Stress/Strain

4. % Strain/Stress

Question id : 5940 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
U3 & fawuor & A &1 s O Fasd @ afvla far s g

Options :

1% T8 X ¥
2.¥ 1/2 (¥¢H <FaA)
3.% w@H /v
4. % T [ TEH

Question id : 5941  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A liquid drop acquires spherical shape due to:

Options :

1. # Gravity

2. ¥ Surface tension
3. % Viscosity

4. % Intermolecular interaction

Question id : 5941  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
S § ThE RO @ ad T TF dg IR AP aROT HICA o

Options :

I % FEcaTRyoT

2. IEET T

3. % e=eAT

4. % AR 370k 3l faar

Question id : 5942 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
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In an orbital motion. the angular momentum vector 1s:

Options :
1. % along the radius vector

2. % parallel to the linear momentum
3. % 1in the orbital plane

4.« perpendicular to the orbital plane

Question id : 5942  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Uk Hel afd &, Sof gaar |ieen

Options :

1. % Ty afger & @ grar
2. % {@d T F FAGER T &
3. % wafr w@eTd & gar &

4. Tl e & oFadcd BT &

Question id : 5943  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The Clausius- Clapyron’s equation of latent heat 15 given by:

Options :

1. ¥ E:;
dT  T(V2-V1)

2. % oL

dT ~ T(V1-V2)

5 % 9P _L24vi)

ar - v2-vi
4 % 9B _ LO2VD
© o dr V24Vi

Question id : 5943  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
FONTAH-FIII I o FCAT &l FHIGIOT ndch gaRT afvld fawar sirar &

Options :

P _ L
1L ar ~ T(v2-vi)
, w L, =

ar ~ Ti-v2)
dP _ L(V2+V1)

3.8 _ =

dT Vi-vi
4 % 9P o LO2VD
: dT Vis+vl

Question id : 5944  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The working principle of pressure gauges for measuring static pressure of a fluid flowing in a pipe 15
based on

Options :

1. % Poiseuille’s law

2. ¥ Bernoulli’s theorem

3. % Stokes’s law

4. ¥ Hooke’s law

Question id : 5944  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
UF UET H §9% & od & Sfad cag AU & T gag a9 & FE-Ea R 9

e g
Options :

1. % disager & oaH
2. gt i wag
3. % FEEd o 9ad
4. % @Wﬁmﬂ

Question id : 5945  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

A double slit experiment 1s performed with light of wavelength 500 nm. A thin film of thickness 2
wm and refractive index 1.3, 1s mtroduced in the path of the upper beam. The location of the central
maxmmum will:
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Options :

1. ¥ Remain unshifted
2. # Shift downwards by nearly two fringes
3.« Shift upwards by nearly two fringes

4. % Shift downwards by 10 fringes

Question id : 5945  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
500 nm TETeed & U & T Ud Sdol e 9aEr fRar Sar §1 2 pm " ér

3R 1.5 3gada & v gaer fhed O fORUrdS & gy A s oy 81 dod
AfFgas Fr Tufg = sefm

Options :

1. % FAEERA §U fdar @i

2. % AT @ TRl ek =il STealr

3. TETEET & Tohel o FOY SATOET

4. % 10 e ae& =r Sl

Question id : 5946  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In diffraction from a single slit. the angular width of the central maximum does not depend upon:

Options :
1. % Wavelength
2. ® Width of the slit

3. ¥ Distance between the slit and the screen

4. ® The ratio of wavelength and the slit wadth

Question id : 5946  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Uhe ol § fdaad #, Sco SfFaAA & wofg wise sq8 @ e o ek a6 &

Options :

1. % e

2. % fEore fr Otz

3. v e 3 B & diT B gl

4. % e 3R Feere i <hstS @ s

Subsection : 2, Question Shuffling Allowed : Yes

Question id : 5947 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
firaxz +2x-1 x<1

| b—a?, x>1

L

In computation, the function fis defined by f(x)=-

where a, b, c are constants. It 1s given that f{x) 1s differentiable at x = 1 and
S(0)= f'(2) . Then the value of b is

Options :

1.¥ 15

2. % 14

3.% 16

4. % 17

Due to typographical error in option, no option is correct. Hence full marks awarded to this question to all candidates.

Question id : 5947  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

ey
ool &, el f @l f(x):;:“x‘ - L x=1
L b—cx, x>1

AT 9iENg fear Jar 8, 6l a, b, ¢ FEns &1 9% fGar g
x = 13K f(O=F QW fix) 3@@wera §1 @ b & 7= F1 &

Options :
1.¥ 15
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2.% 14
3.% 16
4. % 17

Due to typographical error in option, no option is correct. Hence full marks awarded to this question to all candidates.

Question id : 5948 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The minimum value of function ¥ exists when x =

Options :
1. ¢!
2.% E
3.8 o e

4. % ¢

Question id : 5948 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
ol X T FGAGH A 9N Tl § ST x =

Options :
1.¥ g1t
2.% E
3.8 o !

4. % ¢

Question id : 5949  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

: ; . . dy Ldy .
The solution of the differential equation —= —3-= +2y=¢" is
e e T

Options :
a1
1.¥ y=ae" +be™ +§ek

2. % y=ae"‘+be‘3"—les"
2

x —2x 1 34

3. % y=ae +be —;e‘

4. % y=age™ +h¢:'2’f+%e5Jr

Question id : 5949  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

IGEGEalsEC T 2—3%—2}:3“ T gl SAH o T &

Options :
1.¥ y=aex—bez" +%e3’r

2.% y=ae” +bhe™ —%esx

3.8 y=ge* +be™ —%e”

4.8 y=aqge™ +be™* +%esjr

Question id : 5950  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

~7

-
The solution of the partial differential equation —‘q — =sin(xy)is
ay

Options :
L ¥ z=—xsin(x)+f (x) + g(x)

¥ z=—xsin(xy) -5 (x) +g(x)

3. % z=—y sin()+ pf (0)+g(x)

»
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4. % =y sin(xy) + 3 (x) + g2(x)

Due to typographical error in option, no option is correct. Hence full marks awarded to this question to all candidates.

Question id : 5950  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
30TeIeR fasies wefieor

fy: = sin(xy) @I ol 5o & & &

Options :

1. ¥ z=—3"sin(xy) + yf (x) + g(x)
2. % z=—x"sin(xy)—xf(x)+g(x)
3. % z=—y sin(xy)+ yf (x)+g(x)
4. % z=x"sin(xp)+ 3 (x)+g(x)

Due to typographical error in option, no option is correct. Hence full marks awarded to this question to all candidates.

Question id : 5951 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Solution of p\/.‘; +q\/; = -JE 1s

Options :

1% x+y=f(Vr—+z)
2.9 Jx—fy=f(Nx—+Z)
3% i-fy=f(VxE)

4% x=fy=f(Px+z)

Question id : 5951 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

px + a7 =z g s & Fw

Options :

L% Jr ey =F (7
2.7 -y =f(Jr )
3% =y =f(VxE)
4.% x+yfy = f(Vr+F)

Question id : 5952  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
3 45 -

o
The series 1—2—?—3—2—4—2+ —————— 1s

Options :

1. # absolutely convergent
2. % Divergent

3. % Oscillatory

4.+ conditionally convergent

Question id : 5952 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
2 5

;_‘_4__4. ______ %

Options :

1. % Q;USIFF: FfFERT
2. % 3rEmr

3. % EerEr (o)
4. mufader Ay

Question id : 5953  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Let £ (x)=x"vx<[0.1]and for all positive integers n. then

Options :
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L% (,{") does not converge at any point

<

2

(,{") converges at every point but does not converge uniformly.
{fa
{fa

®

converges at some points but does not converges at some other poimnts

w

®

= (£
s.% (£)

converges uniformly

Question id : 5953  Question Type : MCQ (Correc_t +1.0, Wrong - 0.0)
e f,(x) =x"vx[0.1]§ 3R B aacHs quiel & foae n, @

Options :

1% (f,)frelr off fig v arferafa &gt g

(f,) s g W sfEaRd gar § g veaae &7 @ sifeEaia 6

grar

s x (f) TO R o AEERE e § g 3o 3 gy W sferaRa
ael grar

4.% (f) vewA &9 @ FfEraia gar &

2.

Question id : 5954  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The number of elements of order 5 in the group Z,. D Z.is

Options :
1. % 5
2. % 10
3.¢¥ 24

4. % 12

Question id : 5954  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Z,®ZuAg A A 5 & Jaddl &I TEAT SAH o FqT §

Options :
1.% 5
2. % 10
3.¢ 24
4. % 12

Question id : 5955 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Let F,. Fgand F ;s be finite fields of 4. 8 and 16 elements respectively then

Options :

1. % F,is 1somorphic to a subfield of F;
2. % F,is 1somorphic to a subfield of Fg
3. % Fgis isomorphic to a subfield of F ;4

4. % Fjgis isomorphic to a subfield of F 4

Question id : 5955 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A= AT &5 Fy, Fg X Fyp TG 819 § 3R 39% 31999 #7395 4, 8 AR 16 & ar

Options :

1.V Fy 39817 &1 Fy qedien &
2. % Fg 39aTA & Fy qoa@nl ¢
3. % Fyg 396TH & Fg EANT &
4. % Fi5 38T & Fi5 qEATENT G

Question id : 5956 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The system of equations bx +y +z=I;x +hy+z=kandx+y + ke =&

does not have a solution, if & 1s equal to
Options :
1. % 1

2.% 0

GET IT ON

Google Play
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3.% 1
4.4 2

Question id : 5956  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
GEET WO kx + vtz =i x+hky +z=kFR x + y + kz = iF T TS5 g
FET &, @A & A S ¥ ThEe el §

Options :

1. % 1

2.% 0

3.% -1

4. -2

Question id : 5957 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

x+A x X
The value of x for which the matrix A=| X x+A X | 1s singular 1s
x x  x+4

Options :

1.¥ x=32
2.¢ x=-(13)
3.% x=-(1)
4. % x=0

Question id : 5957 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
[x+4 x x ]

xmmw%ﬁﬁmﬁﬁwa:! X aad x Iﬁiﬂﬁw%
l_x x x—/'__l

Options :

1. % x =-3x

2.¢ x = -( A3

3.% x=-(A)

4. % x =0

Question id : 5958 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

o 1 -3/ 1]

(1 0 4 \

The rank of the matrix | is

13 1 S

1 187 o]
Options :
1. % 4
2.8 3
3.¢ 2
4.8 1

Question id : 5958 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

[0 1 =3 =]
| |
e L0 Nawmmaant
3 ok o0k 2
I_l 1 -2 0_!
Options :
1. % 4
2.% 3
3.¢¥ 2
4. % 1

Question id : 5959  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A rigid body moving freely in space has degrees of freedom
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Options :
1.% 3
2.¥ 6
3.% 9
4. % 4

Question id : 5959  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

3aaT & Taad §9 § AaH Th Fon U5 & wagaar & #Ife sq8 & F=2r &
Options :

1.% 3

2.4 6

3.% 9

4. % 4

Question id : 5960 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

The product of generalized coordinates and its conjugate momentum has the dumension of
Options :

1. ¥ force

2. # Energy

3. % linear momentum

4. % angular momentum

Question id : 5960  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
s G T AR R $HE WYIA WA & A SH W & o

Options :
1. % dof

2. %z
3. % @@ |aar
4. v Fyofry |@d9T

Question id : 5961 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
LetX=(3,2-1), Y=(2,4, 1), Z= (4, 0,-3) and W = (10, 4,-5) be vector in a
real vector space. Which one of the following is correct?

Options :

1. ¥ 2X+Z=W,Y+Z=W
2. IX-_Y=Z YV+2Z=W
3.8 X+Z=W,2X+Y=Z
4. % 2Z+T=W X-Y=Z

Question id : 5961 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
afy e aweatas | Rawae WA X = (3 2-1), Y= (2 4, 1),
Z = (4, t'}',—.?)aih' W = (10, 4,—5)111%91’(’5| or TefEa & & ==
S

Options :

1.8 2X+Z2=W Y+ =W

22X -Y =L Y+2Z =W

3.8 X+ Z2=W 2X+ VY =

4.8 272+ Y =W X-VY =

Question id : 5962 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If T 15 an idempotent linear operator then T is diagonalisable and only eigen values of T are

Options :

1. Oand 1
2. % land?2
3.% land-1
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4. % Oand-1

Question id : 5962  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
ofg T ve oiaw (G @ona ¢ T faeola avg § 3k T & vham sfEasios

(3TSAT) AT T8 F T G
Options :

1.¥ 0 3t

2.% 13k 2

3.% 1 3R -1

4.% 0 3R -1

Question id : 5963  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The Gauss Seidal method gives results faster when the pivotal elements are

Options :
1. % smaller than other coefficients
2.« larger than other coefficients

3. % equal to other coefficients

4. % No relation with coefficients

Question id : 5963 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Mg gssa T aia oioma & § 99 o sEag

Options :

1. % 30 O & gorel 7 BIC 8 o
2. 3 AOTRT T e A 95 8§
3. % 3o IOTR F AR B &

4. % 375 TOTRRT & WA P Gad AGT &

Question id : 5964  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

Gauss forward wterpolation formula mvolves

Options :

1. # Even differences above the central line and odd differences on the central line
2. % Even differences below the central line and odd differences on the central line
3. ¥ odd differences below the central line and even differences on the central line

4. % odd differences above the central line and even differences on the central line

Question id : 5964  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T RIS HAA B & ST F T AT §

Options :

1. % &89 W@ F 39 98 @eaaw iR #7a @ W fGuE feaan
2% & Y F o ' fHeean s & @ ) e S
3.¢ A W & A faue fieaaw 3R AT W ) a9 Heade
4% FE W@ & I fawn fFeaaw A & @ W 9a7 Heaan
Question id : 5965 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
From the given data. the maximum value of v 15 grven as

X -1 1 2 3
v -21 15 12 3

Options :
1. Atx=11743. v,,..=15.171612

2. % Atx=0.1743, v, =15.171612
3. % Atx=-11743.y,,,=15.171612
4. % Atx=21743 v, =15.171612

Question id : 5965 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

GET IT ON

Google Play
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AT few A 2er &, y & AfEedH J foeder fgar ar §

X -1 1 2 3
y -21 15 12 3
Options :
1.¥ X = 11743, Ypay=19.171612 X
2. % x = 01743, y0,=15.171612 X

3.% X = -1.1743, ype=15.171612 W
4% x = 21743, y;..,=15.171612 =X

Question id : 5966 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

COsZ

Residue of atz=01s

Options :
1.v¥ 1

2.% 1
3.% 2
4. % 0

Question id : 5966 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
z =0 R 222 gy smafere fraer ¢

Options :
1.v 1

2.% -
3.% 2
4.% 0

Question id : 5967 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If z=a 1s an 1solated singularity of f and f{(z) Zaﬂ (z—a)" 1s 1ts Laurent

expansion in annfa,;0,R). then z=a 1s a removable singulanty 1f
Options :

1.v a,=0.n=-1

2.% g 20.ns-1

3.% q,=0.n=-1

4. % g #0,nz-1
Question id : 5967 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A d@ifse & z=a, 7 & qas fawaoEr § 3R ann(@0.R) & sa@
die Taedr f(z) = a,(z—a)" §, a1 z=a §eIT ST T1eg TaTaToTar gref,
afg

Options :

1.¥ a,=0.n=-1
2.% g, 20.n<-1
3.% a,=0.nz-1

4. % a,#0.n=-1

Question id : 5968 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In dual simplex method leaving variable position is positive after the iteration. then in next iteration
or i some later iterations the vanable occupving the place of this variable i the table

Options :
1.+ can become negative
2. # cannot become negative

3. % will always become negative
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4. % Will always equals to zero

Question id : 5968 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
sy fFoew T 7 afE gmafea & @ o1l 7% W ufr & Rl gaens &,

AT Geigic AT &g 1 fahell gerigicd 3 ATferRl # ToITel WiTe =Y 0
Options :

1. ¥ FOTHE &1 Thell &

2. % FUTHS G 6T TRl §

3. % EHAT WOMCHS GEIT

4, % GHAT YFT F ISR G

Question id : 5969  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Two vertices of the feasible region P of an LPP are xy=(0. 1. 1. 2) and

x; =(3.0.0.1). Then. a pomnt wlich cannot be a vertex of P 15
Options :

1. % (1.2/3,2/3.5/3)

2. % (6.-1.-1.0)

3. % (1/2.5/6.5/6, 11/6)

4. (1.2/3,2/3.5/3). (6.-1.-1.0). (1/2. 5/6. 5/6. 11/6)

Question id : 5969  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
U LPP & cuag™ &% P & & Fﬂ'ﬂﬁg x= (0, 1, 1, 2) 3l Xp =(3,0,0,1) g1 ar @

fog @l @ & < P @1 o ot @ wpar &

Options :

1. % (1,213, 2/3, 5/3)

2. % (6,-1,-1,0)

3. % (1/2, 5/6, 5/6, 11/6)

4. ¢ (1,213, 2/3, 5/3), (6.-1,-1,0), (1/2, 5/6, 5/6, 11/6)

Question id : 5970  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

The necessary and sufficient condition for a set B to be a subset of A 1s that
Options :

1. AUB=A

2.% (4—-B)mB=¢

3. % (AnB)uB=¢

4. % 4UB=B

Question id : 5970  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A & 3THA=ET Bl & foIT W B §q 3fea 3R 9died od 598 W = g

Options :

1.v AUB=A

2.% (4-B)nB=¢

3. % (AnB)uB=¢

4. % AUB=B

Question id : 5971  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The difference between the digit of a two-digit number 1s 4. What 1s the digit in unit’s place? To
find out the answer. which of the information grven in the statement P and Q 1is/are sufficient.

P: The difference between the number and the number obtained by interchanging the positions
of the digit 15 36.

Q: The sum of the digits of the number 15 12.
Options :

1. # only P 15 sufficient

2.+ only Q is sufficient

3. % Both P and Q are sufficient


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addaizy7 Eooale Play

4. % Either P or Q 15 sufficient

Question id : 5971  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
& 3T @rell e HEIT & 3R & 419 @ FAT 4§ SEs F T 9 HiT G OIE 57

el U & AT, &uet P 3R Q & & 915 &l O gEar odied &
P: g 3R e dr Rulg @ 3w F ages @ wiea & 1S §Er & 3R 36 §1
Q: W F HH & AT 12 §

Options :

1. % o P gaied &

2. ¢ Faw Q TaTd §

3.% P 3k Q g=t g #

4.% TP qATed § a1 Q WA §

Question id : 5972 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The line Ix+ny+n =0 is a normal to the ellipse 1—2 + ;, 1if
a b

Options :

m H

Question id : 5972  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

7

GGG r,—Ji =1 & forv @ Ix+my+n=0 HHAHT (’:', Ife
o2

[ b_
Options :
e B @by
‘I'! 2 n}
NP o
) o’ "
Fomr m
4. ® a_:_'_b_:_'_i(a' _,,b_)_ =0
F 3

Question id : 5973  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The general equation of second degree ax” + 2y +by” +2gx+2fi+e=0

represents a hyperbola if

Options :
1.% K <ab

2.% B =ab
3.8 p° >~JE

4. B =ab

Question id : 5973  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
gfadra FIfe & GH THEOT af + 2y +by” +2gx+2 fy+c =0Tk

sifaRaea &1 cofar §, afe

Options :
1. % B <ab
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2. % W =ab

3% s Jab

4. W >ab

Question id : 5974  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

The value of [ jé’qdris equal to

-1

Options :
1. % (e-l)

2. 2fe-1)

3. % 3e-1)

4. % 2fl-e

Question id : 5974  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
1

I=Ié*1dx & AT 5o ¥ fFEe WeR g
-1

Options :

1. % (e-1)
2. Zle-1)
3. % 3fe-1)
4. % 2(1-e)

Question id : 5975  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The value of [L =
V1R
Options :
LV o fx -4V +1c>g|Jc"'r4 +1|+c
2. % 2\;}+410g|ﬂ2 —1|+c
3. % EJ;—log|_r]’”+l|+c

4. % 2»,(.¥+4x1’”—log|x'"4 +1+c

Due to typographical error in option, no option is correct. Hence full marks awarded to this question to all candidates.

Question id : 5975 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
geddrde g i ST9Ig 9 T HTTan?

IL':?
Jx(1+4x)
Options :
1. 2\!;—4)3’”+10g|x"'r4 +1|+c
2. % EJ}+—1log|AJ‘“2—l|+c
3. % Eﬁ—log|xm+l|+c

4. % 2 x+4xl‘”—log|x""‘+]4—c

Due to typographical error in option, no option is correct. Hence full marks awarded to this question to all candidates.
Question id : 5976  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

x
The value of definite integral Iﬂsi.lls HeosGdE is equal to
b

Options :
1. ® 3_T
32
ir
32

2.9 _
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Question id : 5976  Question Type : MCQ  (Correct + 1.0, Wrong - 0.0)
x

fAfeaa oot I@sinsgcosﬁdﬁ & AT 58 ¥ fhad T §
]

Options :

3
1. % —
32
3r
2.¢ S
e T
3% 3
T
4" 32

English Language

Section type : Online, Number of Questions to be attempted:20, Mandatory or Optional: Mandatory, Section Marks: 20.0
Subsection : 3, Question Shuffling Allowed : Yes
Question id : 5977  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

From the given options. choose the word similar in meaning to the word in capital letters
TRANSITORY
Options :

1. % Unstable

2. % Ilusory

3. ¥ Short —lived

4. % Unreal

Question id : 5977  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

From the given options. choose the word similar in meaning to the word m capital letters
TRANSITORY

Options :

1. # Unstable

2. % Ilusory

3. ¥ Short—lived

4. % Unreal

Question id : 5978 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

From the given options. choose the word similar in meaning to the word in capital letters
BELITTLE

Options :

1. % Demolish

2. ¥ Demean

3. % Disapprove

4. % Blame

Question id : 5978 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
From the given options. choose the weord similar in meaning to the word in capital letters

BELITTLE
Options :

1. % Demolish
2. ¥ Demean

3. % Disapprove
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4. % Blame

Question id : 5979  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

From the given options. choose the word opposite in meaning to the word i capital letters.
FLEXIBLE

Options :

1. # Rough

2.+ Rugid

3. % Blunt

4. % Reliable

Question id : 5979  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

From the given options. choose the word opposite in meaning to the word in capital letters.
FLEXIELE

Options :

1. ¥ Rough

2. % Ruigd

3. % Blunt

4. % Reliable

Question id : 5980 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
From the given options. choose the word opposite in meaning to the word in capital letters.

SECULAR
Options :

1. ® Righteous
2.+ Religious
3. % Moral

4. % Spirtual

Question id : 5980 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
From the given options. choose the word opposite in meaning to the word in capital letters.

SECULAR
Options :

1. ® Righteous
2.+ Religious
3. % Moral

4. % Spirtual

Question id : 5981 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In the question given below, out of the four alternatives. choose the one which can be substituted for
the given words/sentence.

The custom of having more than one wife at the same tume
Options :

1. % Monogamy

2. % Matrimonv

3. % Bigamy

4.« Polygamy

Question id : 5981 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In the question given below, out of the four alternatives. choose the one which can be substituted for
the given words/sentence.

The custom of having more than one wife at the same tume
Options :

1. ¥ Monogamy

2. % Matrimonv

3. % Bigamy

4.« Polygamy
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Question id : 5982  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Fill 1n the blanks in the following sentences by choosing the right world out of the options given at
the end of each sentence.

We can look the word in the dictionary

Options :

1. % For

2.¢ Up

3.% On

4. % QOver

Question id : 5982  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Fill 1n the blanks in the following sentences by choosing the right world out of the options given at
the end of each sentence.

We can look the word in the dictionary

Options :

1. % For

2.¢ Up

3. % On

4. % Qver

Question id : 5983  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Fill in the blanks in the following sentences by choosing the right world out of the options given at
the end of each sentence.

We should not compromise safety standards

Options :

1.¥ On

2. % With

3. % Over

4. % Above

Question id : 5983  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Fill in the blanks in the following sentences by choosing the right world out of the options given at
the end of each sentence.

We should not compromise safety standards

Options :

1.¥ On

2. % With

3. % Over

4. % Above

Question id : 5984  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Fill in the blanks in the following sentences by choosing the right world out of the options given at
the end of each sentence.

Do vou think you can handle situation?

Options :

1.% a

2.+ the

3.% an

4. % article

Question id : 5984  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

Fill in the blanks in the following sentences by choosing the right world out of the options given at
the end of each sentence.

Do vou think you can handle situation?
Options :
1.% a

2. The
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3. % A

4. % article

Question id : 5985 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Fill in the blanks 1n the following sentences by choosing the right world out of
the options given at the end of each sentence.

He was fond of playing tennis 1t was his father’s favorite game

Options :

1. % Since

2. % and

3. ¥ because

4. % quntil

Question id : 5985 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Fill in the blanks in the following sentences by choosing the right world out of the options given at
the end of each sentence.

He was fond of playing tennis it was his father's favorite game

Options :

1. % Since
2. % and

3. ¥ because

4. % yntil

Question id : 5986 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Fill 1n the blanks 1n the following sentences by choosing the right world out of
the options given at the end of each sentence
The passengers wear their seatbelts at all the times

Options :
1. ¥ may
2. % Could
3. % might
4. % must

Question id : 5986  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
Fill in the blanks in the following sentences by choosing the right world out of the options given at

the end of each sentence

The passengers wear their seatbelts at all the tunes

Options :
1. ¥ may

2. % Could
3. % might
4. % must

Question id : 5987 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In the following sentences there may an error. Choose the part of the sentence
which has the error.

No scomner did the mother reach home when the child started crying

Options :
1. % No sooner did
2. % the mother reach home

3.« when the child started crving

4. % No error

Question id : 5987 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In the following sentences there may an error. Choose the part of the sentence which has the error.

No sooner did the mother reach home when the child started crymng

Options :
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1. % No sooner did

2. % the mother reach home

3.« when the child started crving

4. % No error

Question id : 5988 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In the following sentences there may an error. Choose the part of the sentence
which has the error.

He will face serious problems if he will not change his attitude.
Options :

1. % He will face serious problems

2. ¥ if he will not

3. % Change his attitude.

4. % No error

Question id : 5988  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

In the following sentences there may an error. Choose the part of the sentence which has the error.

He will face serious problems if he will not change his attitude.

Options :

1. % He will face serious problems
2. ¥ ifhe will not

3. % Change his attitude.

4. % No error

Question id : 5989  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In the following sentence there may an error. Choose the part of the sentence
which has the error.

I think that between Ram and Suresh Ram 1s the most intelligent

Options :

1. % I think that

2. % between Ram and Suresh
3. % Ram 1s the most mtelligent

4. % No error

Question id : 5989  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

In the following sentence there may an error. Choose the part of the sentence which has the error.
I think that between Ram and Suresh Ram is the most intelligent

Options :
1. % I think that
2. % between Ram and Suresh

3.+ Ram is the most mtelligent

4. % No error

Question id : 5990  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In the following sentence there may an error. Choose the part of the sentence
which has the error.

They can promise you an experience you won 't ever target

Options :

1. # They can promise you
2. # an experience

3. % youwon't ever target

4. ¥ No error

Question id : 5990  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In the following sentence there may an error. Choose the part of the sentence which has the error.

They can promise you an experience you won 't ever target
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Options :
1. ¥ They can promise you

2. # an experience
3. ® youwon't ever target

4. ¥ No error

Question id : 5991  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In the following sentence there may an error. Choose the part of the sentence
which has the error.

The dress that the girl wore was more attractive than the other girls

Options :

1. # The dress that the girl wore
2. % was more attractive

3.« than the other girls

4. % No error

Question id : 5991  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
In the following sentence there may an error. Choose the part of the sentence which has the error.

The dress that the girl wore was more attractive than the other girls

Options :
1. ® The dress that the girl wore

2. % was more attractive
3.+ than the other girls

4. % No error

Question id : 5992  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose which of the following 1s spelt correct

Options :

1. % Malaese
2. % Melaize
3. % Melaise
4. ¥ Malaise

Question id : 5992  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose which of the following 1s spelt correct

Options :

1. % Malaese
2. % Melaize
3. % Melaise

4. ¢ Malaise

Question id : 5993  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Choose which of the following 1s spelt correct
Options :

1. ¥ Grevance

2. % Greviance

3. ¥ Grievance

4. % Grievence

Question id : 5993  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose which of the following 1s spelt correct
Options :

1. % Grevance

2. % Greviance

3. ¥ Grievance

4. % Grievence
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Question id : 5994  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Ultra Vires 1s a term used for

Options :
1. # A document corrupted virus

2.+ An act beyond the authority of law
3. % An act authonized by law

4. ® Anillegal act

Question id : 5994  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Ultra Vires 1s a term used for

Options :

1. # A document corrupted virus

2.« An act beyond the authority of law
3. % An act authorized by law

4. % Anillegal act

Question id : 5995  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Viv-a-vis means:
Options :

1. ¥ Direct

2. % Opposite
3. ¥ Face to face
4, % Agree

Question id : 5995 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Viv-a-vis means:

Options :

1. % Direct

2. % Opposite
3. ¥ Face to face
4. ® Apgree

Question id : 5996  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
“Guft of the gab’ means:

Options :

1. # Gift of hard work

2. % Gift underserved

3.« Gift of being a good conversationalist

4. % Gift from unknown person

Question id : 5996  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

“Gift of the gab’ means:

Options :

1. # Gift of hard work

2. % Gift underserved

3. " Gift of being a good conversationalist

4. % Gift from unknown person

General Intelligence/Reasoning
Section type : Online, Number of Questions to be attempted:15, Mandatory or Optional: Mandatory, Section Marks: 15.0
Subsection : 4, Question Shuffling Allowed : Yes

Question id : 5997 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the related words from the given alternatives.

Odometer : Mileage :: Compass :


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addaizy7 Eooale Play

Options :
1. ¥ Speed

2. % Hiking
3. # Needle
4. ¢ Direction

Question id : 5997 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
3 7T feal H Oatag 9ecT & T3 H1

s - Ao - HEI

Options :

1. % It

2. % Ygor odt A (grsfeen)

3.% g3

4. ¢ fEam

Question id : 5998 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Select the related words from the given alternatives.
Marathon : Race = Hibernation :

Options :

1. % Winter

2. % Bear

3.« Sleep

4. % Dream

Question id : 5998 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
&3 10 Tasedl H Hafid =gl & 999 #Y|

wEdr gz - gz - gEaee

Options :

1. % wéf

2. % #Te]

3.¢ Fg

4. % T

Question id : 5999  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Select the related words from the given alternatives.
Vigilant : Alert :: viable :

Options :

1. % Beautiful

2. % Useful

3. % Siumple

4. ¢ Feasible

Question id : 5999  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
&3 31T Tasedl H Hafid =gl & 999 ai|

SATITE - Tl - 38T -

Options :

1. % Heed

2. % It

3. ® OETHOT

4. AT

Question id : 6000 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Select the related words from the given alternatives.

Amnesia : Memory :: Paralysis :
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Options :
1. ¥ Handicapped

2. ¢ Movement
3. % Legs

4. % Limbs

Question id : 6000 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
3 7T feal H Oatag 9ecT & T3 H1

= —
T-HIVT: SHId o efehdl :

Options :

1. % Taeherar

2. arcirefrerar

3.% 4y

4. % 3T
Question id : 6001 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

In the following question a letter series 1s given. in which some letters are missing. The missing

letters are given i the proper sequence as one of the alternatives. Choose the correct altemative
ba — ba —bac —acb - c abe

Options :

1. % aach
2. % bbea
3.9 ccba

4. % chac

Question id : 6001 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
TrTafEg wed # e ao &H fear 9w §, ﬁ{ﬂﬁgﬂaﬁﬂﬁqﬁﬁmﬁl fordr T

faeT & w9 # Fguead avr 3fa &7 & B o §) 661 Gwed &1 99a a2
ba — ba—bac —acb - c abc

Options :

1. % aach

2. % bbea

3.9 ccba

4. % chac

Question id : 6002 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In the following question a letter series 1s given. in which some letters are missing. The missing
letters are given i the proper sequence as one of the alternatives. Choose the correct alternative

bca—b—aabc—a—caa
Options :

1. ¥ acab

2. % bebb

3. % cbab

4. % ccab

Correct option is 1 and hence changed answer to 1.

Question id : 6002 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

fFrafafad wea 7 v ot F1 Bar o &, S Fo avt sqeitd B R o

faeeT &9 & sauieed avl 3fa &8 & & a0 &1 98 fweT & aa7 &

bca—b—aabc —a—caa
Options :

1. ¥ acab

2. % bebb

3. % cbab

4. % ccab
Correct option is 1 and hence changed answer to 1.

Question id : 6003  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addaizy7 Eooale Play

If in a certain language MADEAS i5 coded a NBESBT. how 1s BOMBAY coded in that language?

Options :

1. % CPNCBX
2. CPNCBZ
3. % CPOCBZ
4. % CQOCBZ

Question id : 6003 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
gfe et Wf9aa s 3 MADRAS &7 NBESBT &5 fam oiar &, ar seit srar &

BOMBAY I &5 &l g7
Options :

1. % CPNCBX

2. ¥ CPNCBZ

3. % CPOCBZ

4. % CQOCBZ

Question id : 6004 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If SCIENCE 15 coded as UFJTIM. then GENE will be coded as:

Options :

1.+ HGQI
2. % THRJ
3. % IHRI
4. % THSJ

For the above question, User had specified 'full' during keys upload.

Question id : 6004 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
afg, SCIENCE &7 &1 UFITIM &, @ GENE &I $IS &7 §1em?

Options :

1.+ HGQI
2. % THRJ
3. % IHRI
4. % THSJ

For the above question, User had specified 'full' during keys upload.

Question id : 6005 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Which one of the following pairs 15 different from the rest three?

Options :

1. ® Twigs : Nest

2. % Gold : Omaments
3.« Picture : Pottery

4. % Wood : furniture

Question id : 6005 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
STH W @il T SIS 3eT ol T 37619 37

Options :

1. % @y : arger

2. % TgoT : 3TwOT

3. ¢ TR FEert
4. % ST e

Question id : 6006 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

Which one of the following pairs 1s different from the rest three?

Options :
1. ¥ Tongue : Taste

2. % Eve:Blind
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3. % Ear : Deaf
4. % Leg:Lame

Question id : 6006 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Seafafad & & Sl &1 S137 377 did T 3T 87

Options :

1. Sife1: warg
2. % i@ : 3rem
3. % ohid &Rl
4. % & :eEmEr

Question id : 6007 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Which one of the following pairs 1s different from the rest three?

Options :
1. ® Mercury : Sun
2. % Moon : Earth

3. ¥ Wheel : Axle
4.« Star : Galaxy

Question id : 6007 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
afafaa & & o9 @1 e w7 d § e 7

Options :

1. % g3

2. % =eg @ gl
3. % ofgar: elr

4. TRT: ITRTIETET

Question id : 6008 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Arrange the following words according to the English dictionary.
1. Republic 2. Remember 3 Report 4. Repeat 5. Repeal

Options :

1.¥ 2543,
2.% 3.2.1.4,
3. % 534013
4.% 5.1.4.3.

—_

L

2

Question id : 6008 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
3T e F AJUR FEATRET erear # sqaiead #i

1 Republic 2. Remember 3 Report 4. Repeat 5. Repeal

Options :

1.9 2,54, 3,1
2.% 3. 2145
3.8 5.2.4.1.3
4.% 5.1.4.3.2

Question id : 6009 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Sunil 15 heavier than Abhinav but not as heavy as Rajiv. Ablunav is heavier than Jayesh. Kashi 1s
heavier than Suml. But Sunil 1s not as heavy as Rajiv. Who 1s the heaviest?
Options :

1. ¥ Sunil

2. % Abhinav

3. % Rawv

4. % Kashi

For the above question, User had specified 'full' during keys upload.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal2y7 Eoogle Play

Question id : 6009 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
Totler, 37T30sa & a0 § bt Tolta e w7 3f3ea, s & &) g1 wel, goie

& ol §1 ofhed G, ol Sidar ol 78 & a7 AT @ Ha9 o &l 77

Options :
1.V Felrer
2. % sifaaa
3. % i
4. % Fraft

For the above question, User had specified 'full' during keys upload.

Question id : 6010 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

A woman said to a man. The daughter of vour only sister 15 the sister of my husband. What 15 the
relation of the man’s sister to the woman?

Options :

1. % Mother

2. ¥ Mother — in — law

3. % Sister

4. % Data mnadequate

Question id : 6010  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
U T o Uah GEY W FEI, IR Ueheldl apet T deT A 9 #7 a5 g1 3H 989

ag & Y 39 T & @y & fear

Options :
1. % |r

2. 9™
3. % d@gal

4. % ugieg g

Question id : 6011  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A man walks 1km towards East and then turns to South and walks 5 km. Again he turns to east and
walks 2 km. after then he turms to North and walks 9 km. How far is he now from his starting pomnt?

Options :

1. % 3km
2. % 4km
3.¥ 5km
4. % Tkm

Question id : 6011  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
TF SEAT 99 &1 R 1 A Sear § e gfareT @ 3R #sax 5 TR 9o 81 @

o & qd &7 3R A5 2 BRAL T €1 396 d1g 95 Sea? e # 9 fRAn =e g,
¥ dF IO URTEE fHg ¥ fhae g w2

Options :

1. % 3fdn

2. % 4R

3.9 5 T

4. % 7R

General Aptitude/Numerical Ability
Section type : Online, Number of Questions to be attempted:15, Mandatory or Optional: Mandatory, Section Marks: 15.0
Subsection : 5, Question Shuffling Allowed : Yes

Question id : 6012 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Find out the missing numbers in the following series:

12,15.14,17 719
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Options :
1. % 18
2.v 16
3.% 13

4. % 15

Question id : 6012 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
forrafafaa Aot 7 et T@r o w3

12,15,14.17719
Options :
1. % 18
2.v 16
3.% 13
4. % 15

Question id : 6013  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Arrange the following fractions in the descending order:

& sl 1
36779
Options :
1. ® 1,£,i,i
: 9°5°773
3 4 2 1
b7 Rl e
2 7°9°573
4.2 2 13
Q/————
3 9° 77673
413
® =22 22
4. e

Question id : 6013  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
IS A Paef@Ea @ st o coaffa s

L
kol B i

Options :

L% £231
: 9°677°3
PREES
SRS

Question id : 6014 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The maximum number of devotees among whom 340 oranges. 430 apples and 630 bananas can be
distributed in such a way that number of oranges. apples and bananas remains the same 1s

Options :
1. 85
2. % 90
3.% 80
4. % 105

For the above question, User had specified 'full' during keys upload.

Question id : 6014 Question Type : MCQ  (Correct + 1.0, Wrong - 0.0) . oL . . .
el T 3TfeRds T T § foeta afe 540 TR, 450@33#1?630%3@3113, At I A & I Hoi, HaT 3R el S T&IT AT 2

Options :
1.¥ 85
2. % 90
3.% 80
4. % 105
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For the above question, User had specified 'full' during keys upload.

Question id : 6015 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Kiran had 85 currency notes 1n all some of which were of 100 denomination and the remaining of 50
denomination. The total amount of all these currency notes was Rs. 5000. How much amount did she
have 1n the denomination of Rs.507

Options :

1. ¥ Rs.3500
2. % Rs. 4000
3. # Rs.4200
4. % Rs.4500

Question id : 6015  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
f&RoT & 9 & 85 dle F, Fad § FO 100 T F o 3R ardhr 50 § & O A

S AR AT &1 FeT AFT 5000 FIX o, 1 30 TH 50 T F Al i et A
ofr?

Options :

1. ¥ 3500 ®9

2. % 4000 ®OI

3. % 4200 T

4. % 4500 ®UI

Question id : 6016 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The sides of triangle are in the ratio of% i i : %a.nd 1ts perimeter 1s 104 cm.
The length of the longest side 1s:

Options :

1.% 32em

2.9 48 ecm
3.% 32em
4. % 26cm
Question id : 6016 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

NERE TR O T & serara # § AR gwer aRwmg 104 TAL
A P 1 T ad s A wrs R g2

Options :

1. % 5235,
2. 48 {AT
3.% 323
4. % 26 ¥

Question id : 6017 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In a school. 10% of the boys are the same in number as %ﬂl of the girls. What 1s

the ratio of the boys to girls in that school?
Options :
1. % 3:
2.
3.% 21

[B]

L

22

4. % 43
Question id : 6017 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

Thol # WSl I TE&AT &l 10%, ﬂsﬁa—a’iﬁﬂw#} & WM&, dr 39 Tl
# ol 3R SEBT S T & SauE a1 §?

Options :
1.% 3:
2.4 5

[B]

[B]
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3.% 21

4.% 43

Question id : 6018 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If a sum of money at simple interest doubles In 6 vears, it will become 4 times in:

Options :

1. ¥ 12 years
2. % 14 years
3. % 16 vears

4.+ 18 years

Question id : 6018 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
IfE WEROT &= W U R 6 o # S6[AT 87 Al &, dF I e fhde e # 9W
AT BT SATTE?

Options :

1. #® 1D@e #
2.% 149 &
3.% 169 H
4. 1891 &

Question id : 6019  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A library has an average of 510 wvisitors on Sundays and 240 on other dayvs. The average number of
wisttors per day in a month of 30 days beginning with a Sunday 1s:

Options :
1% 250
2. % 276
3.% 280
4. ¢ 185

Question id : 6019  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
TF XA A AR & fEe T 510 AEdE A & AR e e 7 g
AT 240 Eiel &, dF Yaar & o o arer 30 fell & Ush AQl F 3mergel i Hed

Options :
1. % 250
2. % 276
3. % 280
4. 285

Question id : 6020 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Six vears ago. the ratio of the ages of kunal and Sagar was 6:5 four vears hence, the ratio of their
ages will be 11:10 what 15 Sagar's age at present?

Options :

1.+ 16 vears
2. % 18 years
3. % 20 vears

4. ® 22 years

Question id : 6020  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T | 5ol FHOMSl 3R HEN H IH H AT 65 AT IS F AN Tl @G AN IH

T 3T 11:10 @) §ER #7357 308 &= 8
Options :

1. % 16 9Tl

2. % 18@rel

3. % 209

4. % 22 @
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Question id : 6021 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If there is a profit of 20% on the cost price. then the percentage of profit on the sale price is:

Options :
1.¥ 163 %

2. % 129
3.% 1529

4. % 16%

Question id : 6021 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
g & AFA R 20% & o HAerar g, ot 06 #qoa | Thdar sfaea @m gren?

Options :
1. 162 o

2. % 129%

3 % 15%%
4. % 16%

Question id : 6022 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Mr. Krishna purchased a flat for Rs. 9.25.000 and spent Rs. 35000 on its renovation. If he sold the
flat for Rs. 10.80.000, then the percentage of his profit 1s:

Options :
1. % 15%
2. % 17.5%
3. % 20%

4. 125%

Question id : 6022  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
AT, FEOTM & 925,000 9 F Tah Fole @Gl AR 59% AdRET # 35000 T @F HT

few, afg 3egs 9 Weic &7 10.80.000 T9F H 97 &7 &1, a7 306 Tohdem giagera et
Ee?

Options :

1. % 15%

2. 8% 17.5%

3.% 20%

4. 12.5%

Question id : 6023 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

If 6 men working 8 hours a day earn Rs 1680 per week. then 9 men working 6 hours a day will eam
per week:

Options :

1. % Rs 1680

2. % Rs 1920

3. % Rs 2680

4. ¥ Rs 1890

Question id : 6023  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
gfg 6 3EAT & FeMfafed & o g audis 1680 ®I &ATd 8, dF 9 <dfad 6 e/

ufafed & g g & G fohaalT FATTA?

Options :

1. % 1680 &I
2. % 1920 w93
3.% 2680 I
4.9 1890 w93

Question id : 6024 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
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A pipe can fill a tank with water in 3 hours. Due to leakage in the bottom of the
tank it takes 3 % hours to fill it. In what time will the leakage empty the fully
filled tank?

Options :

1. ¥ 12 hours
2. % 15 hours
3. ¥ 18 hours
4. ¥ 21 hours

Question id : 6024 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
U GISY U & I 3 U A Rl ¢1 & H aeh A S @ & RO A5 37 6
& = Ul £ IF 8¢ W M §U & I fhdd AT F @il & gam?

Options :

L ¥ 129¢
2.% 15°E¢
3.% 1g=Ee
4. 29

Question id : 6025 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

A can travelling at a speed of 40 km/'h can complete a journey in 9 hours. How long will it take to
travel the same distance at 60 km'h 7

Options :

1. ¥ 6 hours

2. % 35 hours

3. ¥ 4 hours

4. % 3 hours
Correct option is 1 and hence changed answer to 1.

Question id : 6025 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A wF arar & 40 FRA/ES 1 afg ¥ 9 = A off X wFar 8, o a5 60 AT

A & Al & g B e B2 F QO T em

Options :
1.¥ gue
2.% s59¢
3.% 49¢
4. % 39

Correct option is 1 and hence changed answer to 1.

Question id : 6026 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A man completes % of a job 1n 10 days. At this rate how many more days will
he take to finish the job?

Options :

1.% 5

2.
3. %

-~ o o

4. %

Question id : 6026 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
U cafdd U @7 ¢ 6T 10 Rl F G AT §1 590 X F 95 F F G A A

fraer fear ik semmeem

Options :
1.% 35

2.¢
3%

- o O

4. ®
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Section type : Online, Number of Questions to be attempted:10, Mandatory or Optional: Mandatory, Section Marks: 10.0

Subsection : 6, Question Shuffling Allowed : Yes

Question id : 6027 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The words “Satyameva Javate™ i the National Emblem are taken from:

Options :

1. # Kenupnishad
2.« Mundaka upnishad
3. % Isha upnishad

4. % Ganga upnishad

Question id : 6027 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
TSERT Yelleh # 9 'Toadg 3 o o T g

Options :

1. % et 39feIwg,
2. Hs5H 3UTATG
3. % gem 3ufag
4. % 33T 3ufAug,

Question id : 6028 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
Chinese traveller Hiven-Tsang studied at the vniversity of

Options :

1. # Taxila

2. % Vikramshila
3. % Magadh

4. ¢ Nalanda

Question id : 6028 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
T AT el oAl (Hiven-Tsang) & Tohdl Taeafacarers # Head«l foear am?

Options :

1. % gatierer
2. % famATTen
3. % HarEr
4. Freier

Question id : 6029  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Which one of the following Silkh Gurus was beheaded by Aurangzeb?

Options :

1. % Guru Ramdas

2. % Guru Teg Bahadur
3. % Guru Arun Dev

4. % Guru Gobind Singh

Question id : 6029  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
fFfafaa & 4 siReea @ ala @ B 1% &1 W dad Far amr an

Options :

Question id : 6030 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Bhikaji Cama was a :


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addaizy7 Eooale Play

Options :

1. % Painter
2. % Poet
3.« Freedom fighter

4. % Scientist

Question id : 6030  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
drarstt Far v o

Options :

1. % e

2. % wfg

3. TaEHAdT HeAleAr

4. % Yoo

Question id : 6031 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Name the Indian Cricket legend who was honoured with “Life Time Achievement Award™ in the
House of Lords in London on September 25. 2014,

Options :

1.+ Kapil Dev

2. % Ravi Shastri

3. ® Saurav Ganguly

4. % Sunil Gavaskar

Question id : 6031 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

39 AR fdhex &1 71 Iae &8 25 &aet 2014 &1 oicd & §39 A% oied J
TS TEA Mgde Hals' ¥ GFEATad fRar ar ar?

Options :

1. v Hfe 2a

2. % If emeAr

3. % ®Ra ameren

4. % Geilol AMATH]

Question id : 6032  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
With which game 15 the term "Advantage associated?

Options :

1. # Billiards

2. % Table Tennis
3. ¥ Lawn Tennis
4. % Badminton

Question id : 6032  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
ferFaaifEd # & ‘Usaicel oeg b Wel I 5T 87

Options :

1. % fyfease
2. % et ey
3. @i efaw
4. % sfiea

Question id : 6033 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Pt Ravi Shankar 15 a renowned :

Options :

1. ® Table player
2. ¥ Sitarist

3. ¥ Violinists

4, % Sarangi player
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Question id : 6033  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
ofse I e v Ui gl

Options :
1. % Zad wey

2. v fEaracH
3. % gEfoloadigs
4. % FRAT agH

Question id : 6034 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
“Arjun Award’ 1s given for:

Options :

1. # Bravery on the battlefield

2.« Outstanding performance in sports
3. % Exceptional service in emergency

4. % Environmental studies

Question id : 6034  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
ISl RERR & s g

Options :

1. % osn & fog & d=ar & oo

2. @t & Hge & @remor ueda & &
3. % FOEeTd & §HT FHEEROT d@aT & o
4. ¥ ofeRor & 3G & ow

Question id : 6035 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
The longest state(in terms of area) in India 1s:

Options :

1. % Madhya Pradesh
2. % Andhra Pradesh
3. # Maharashtra

4. " Rajasthan

Question id : 6035  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
HRA A FIY o1 AT (BTl & Hesl #) g

Options :

1. % Frer goRr

2. % 371y geEr

3. % HgHIcg

4.« el

Question id : 6036 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Who propounded the Quantum Theory?

Options :

1. % Albert Einstein
2. % Max plank

3. % Heisenberg

4, % Max well

Correct option is 2 and hence changed answer to 2.

Question id : 6036 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
FaicH Gara fhae gfgared fear are

Options :

1. % 3fcac ST (Albert Einstein)
2. feg wie (Max plank)

3. % gIooidadl (Heisenberg)

4. % Foq dof (Max well)

Correct option is 2 and hence changed answer to 2.
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